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Sr. | Client Question
No. ID

Objective Question
1

Number of
Employees who
prefer their own
Vehicles

184

78

384

182

220

Company

mgnowe

together?

. 1142
. 1162
1122
. 1154

EEa VR A

Question Body and Alternatives Marks

Number of Employees
who prefer Metro

68%
60%
55%
70%
72.5%

150501 e following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table, answer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of
Employees who
prefer Bus

24%

35%

30%

16%

15%

What is the difference between the number of employees who prefer travelling by Metro from companies D
and E together and the number of employees who prefer travelling by bus from companies A, D & E
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Objective Question
2 150502
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Company

Mg nWwe

. 1850
. 1750
. 1620
. 1720

S S

184
78
384
182

220

Mg owe

. 1850
. 1750
. 1620
1720

Fo o S

Al
A2
A3
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Number of
Employees who
prefer their own
Vehicles

184

78

384

182

220

Number of Employees

who prefer Metro

68%
60%
55%
70%
72.5%

E2CE

EZoh
68%
60%
55%
70%

72.5%

ftaE F1 AW TS A SHARET ST HUHTER fFam
T8 SN S g|m . UF SHENE St

HOET WO 9 THe | WiEa! 3l e wiaEaar o 99 9 W
e B Y

F A, B #iR D § wHariE St 3ftea g fEad g2

What is the average number of employees in A, B and D?

TF FHaNEl B

24%
35%
30%
16%
15%
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The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table, answer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of
Employees who
prefer Bus

24%

35%

30%

16%

15%

Frofefaa ot & A - E U9 $ufdl & 09 sHaial 31 9en o $aien ige & 6 o0 a5 & VR S8 16E S
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Objective Question
3

Number of
Employees who
prefer their own
Vehicles

184

78

384

182

220

Company

Mg oWwe

employees in company P.
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Number of Employees
who prefer Metro

68%
60%
55%
70%
72.5%

150503 The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table. answer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of
Employees who
prefer Bus

24%

35%

30%

16%

15%

In an another company P, if the number of employees who prefer travelling by Metro is 25% more than the
number of employees who prefer travelling by Metro from company B and the number of employees who

prefer travelling by metro from company P is 45% of the total number of employees in that company. then
the total number of employees in company E is

% less than the total number of
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Objective Question
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The following table shows the number of employees of five companies A-E who prefer their own vehicle to
reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table, answer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of

c Employees who Number of Employees e heral
ompany i i i T : Employees who
prefer their own who prefer Metro i
: prefer Bus
Vehicles

A 184 68% 24%

B 78 60% 35%

2 384 55% 30%

D 182 70% 16%

E 220 72.5% 15%

What is the ratio of number of employees who prefer travelling by Bus from company C to that of D?

. 48:19

. 48:23

. 48:13

. 48:11

FofefEa ot & A - E U9 $ufdl & 09 SHaial 1 9en o $rfe tiged & 6 o0 a5 & VR S8 16E S
& 3R U SHaIE! @ afwmd (%) SR 70 8 9 AT SR o9 ¥ Fritd 9 16E S5 87 JE $ 5 O WY §
w1 & SwiE e T 21 59 anfeet # g Y siEst & egar fay e wet ¥ o i

o LD D

s F1 AW TS A ARG ST HUHER fFam

UG sl # e U s @t T S &
G e B o B A s B T e S A s B T R e B e

T A E e FAE
A 184 68% 24%
B 78 60% 35%
c 384 55% 30%
D 182 70% 16%
I 220 72.5% 15%

S C SR D & &9 | G ST G6E S a0 SHARIG! B SEisl o Sgud g ?

. 48:19
. 48:23
. 48:13
. 48:11

O
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A2
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A
3
Ay
4
Objective Question

5150505 The following table shows the number of employees of five companies A-E who prefer their own vehicle to

reach office and percentage (%) of employees who prefer Metro and Bus to reach office. There are only
three modes of transport as mentioned. Based on the data in the table, answer the questions that follow.

Company wise Distribution of Employees Preferring Modes of Transport

Number of

Employees who Number of Employees N el

Company i i T : Employees who
prefer their own who prefer Metro ofer Bus
Vehicles prEErn

A 184 68% 24%

B 78 60% 35%

& 384 55% 30%

D 182 70% 16%

E 220 72.5% 15%

What is the total number of employees who prefer travelling by Metro from A, B and C?

. 3908

. 3710

. 3308

. 4028

Fofifaa Tt # A - E uie $uft & U8 Siaial #1960 o S1ied ugey & [0 30 ae- & YA 31 98g B
g SR U9 STl 1 wiomadn (%) il T4 8 S A4 R a9 § St 9H1 U6 S 67 1T & Sad diF 9 §
w1 i IeoE S T §1 59 aifere | qRIE Y s & oger fE T wet & S S

e LD kD

RtTET F1 HIEH TS HAd SHEARIG! ST HUHIOR g

T8 N 1 gEn U9 SR e T SN #1
HOA O AT A 9¥e wioEaaren Bl g9e vl o &9 @ WE

FAE Easkd EicacH
A 184 68% 24%
B 78 60% 35%
C 384 55% 30%
D 182 70% 16%
i 220 72.5% 15%

S0 A, B 3R C ¥ B § U1 A1 G ST SHONE #1 oo Ted fEadr g e

. 3908
. 3710
. 3308
. 4028
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:A1
A2
A3
A4

Objective Question

6 150506 Ay art teacher wants to create an interactive gallery(wall) of famous artists for her students. Which of the

following tools would be most suitable?

1. Screen castomatic
2. Padlet

3. Edpuzzle

4. Mentimeter

TP Tl 12T 39 fGeniial & U 9is SaeR! B a=ihad® e [@rd) S 98l © |
F=Ed o O S A1 91RFE Saitie Sugnt i 2

1. TpH BREHCH
2. Ugde

3. TSUd

4. B=iHeR

I'Al
52
.A3
.A4

Objective Question

7 1503507 1 the mobile number of your friend changes, and you often continue to dial his former number, it is an

example of

1. Positive transfer of learning

2. Negative transfer of learning
3. Zero transfer of learning

4. Bilateral transfer of learning

AT 3T 713 BT TIeTSd F6R 954 offdl § 3R HT 3R 39 R Fa% TR BIH P o, T8 Jae0 ¢ -

1. HTETH BT PRIAD <RI
2. 3 BT APRIED <RI
. ST BT Y 3=R0T

. T BT fgualt sraRur
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:A1
A2
A3
A4

Objective Question
8 150508 which of the following are the types of Implicit Memory?
A. Semantic Memory
B. Procedural Memory
C. Priming
D. Episodic Memory
E. Classical conditioning effects

Choose the correct answer from the options given below:

. A& D only
.C.D &E only
.B.C &E only
. A & B ounly

e W F IR AT I eA AT 2

A smff e

B. @rdfafd® Wfa

C. UTSfHT

D. HidiffTs wid

E. II 3Ha- UUTG

1 faU ¢ fasedl ® ¥ Jad SUged STk &1 99 HIieg :

O

1. FAAAIARD
2.%dd C,D ARE
3. %dd B, C ARE
4. Had AR B

Al

A2

A3

A4

Objective Question
9 150509
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Which of the following are the ways to increase motivational climate in the class?

A. Use a variety of instructional strategies to maintain student interest

B. Give students opportunities to share their experiences and learning with each other
C. Allow sarcasm and superiority to exhibit in classroom

D. Fostering classroom atmosphere which is based on trust and cooperation

Choose the correct answer from the options given below:

.B & C only
.C & D only
.A.B & Donly
4. A, C&Donly

Bl T TR grararul ¥ Sfigls & U Fefafaa d s 3 g2

A. faemdf ot siftrefa 59 wEa & fom Fewnere womifaat & e weRi &1 waiT &A1
B. faenfiial & Ue.geR & T o9 3FHd UG ST & WISl &3 & SaER W SRl
C. D&l H oy (@ele) SiR AT WalRid 6 B Al ol

D. [9%aT U6 I8arT IR SMIETRT Safl & ardraxul &1 Wieg &1

-1 fau ma fadpentl # 9 951 IR 1 90 SIfo :

L2 =

L¥¥]

L. ¥aaB AR C
2.%ad € 3R D
3. Pad A, B3RD
4. %ad A.C3RD

Al
A2
A3
fM

Objective Question

101150510 wyryich of the following factors influence the effectiveness of support material?

A. Clarity and Comprehensibility

B. Quantity of material

C. Appropriateness for the learner's age and level
D. Relevance to the learning objectives

Choose the correct answer from the options given below:

. A only
LA . C&D only
.C & D only

L2 =

(¥}

4.B & D only
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TeTO® I S THIETT & THIfdd o534 911 RS FEfiad S IS IE 2
A. TVAT 3R AYEHT
B. O &1 A&
C. SHITHSdl B 31 Ud W & [0 Sugeidl
D. 3T 3580 & fod uraidar

1 feu ¢ fasedl ® ¥ gad Sugad SR &1 994 HIieg :

1. %ad A

2. Pdd A, C IRD
3.%dd € 3RD
4. HaAB AR D

Al

A2
A3

A4

4

Objective Question

50511 wyich among the following is NOT an advantage of open ended questions in survey research?

. They are useful for explaining areas in which researcher has limited knowledge.
. Respondents can answer in their own terms.

. They allow unusual responses to be derived.

. They are easy for the interviewers and or respondents to complete.

[FfeRad H 9 o1 gdan e H Head U=l &1 1Y 781 6 2

b =

L

1. 3 39 SANUR &Ef g Iuirt €. s Reedl & o S gH eI g |

2. T (STRETAT) 319 Weal H SRS IHA B |

3. 4 ST U o B SRITHTI W] & WPpfd S 5 1

4, 9 TP RIS iR / Sriar geTial & o gof (FH9=) $3 8 IR el §

Al
1
A2 5
2
A3 3
3

Ay
4

Objective Question
12 150512
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The reference section of a research article in written in APA style. Arrange the information pertaining to a
reference in the correct order

A Page number

B. Year of publication
C. Name of author

D. Title of the article

Choose the correct answer from the options given below:

1.A.B.C.D
2.C.A.B.D
3.D.C.B.A
4.C,B.D.A
fersit 2Te oz 1 W wus udie Ul § forar mar ¢ | dey 9 Hafd 3 o1 981 o e H § sgafiud

A JE T=1

B. WY & a9
C. TGP HTAH
D. 93 &1 Y&

i feu U fasedi O 9§ |l SR 1 99 difoiy «

1.LAB.C.D
2C.ABD
3D.C.B.A
4 C.B.D.A
Al
1
A2 5
2
A3 3
3
Ay
4

Objective Question
131150513 Given below are two statements:
Statement I: Coding is a crucial stage in the process of doing a content analysis.

Statement II: A coding schedule includes all the dimensions that would be employed in the coding process and
indications of the guidance for coders

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false
. Statement I is false but Statement IT is true

b =

Lo
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T RTTE:
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TR Y & el o, - 3T Y [debedl # 9 969 Suga IR D1 90 Biuig:

HY 1 3R 11 SHT T8I &
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HUT 17704 ¢, fog FUT I LT

b2 =

N ]

Al
A2
A3

A4

4
Objective Question

14 1150514 yrhen researchers use designs that call for multiple groups. the most commonly employed test is

Z- test

t- test for difference of means
paired t-test

F-test

e TNYyEHdl U Siiaedl &1 Tai ddl ¢ fordd agia g @I STavgddl ISl 8. 39 og gaidd
YA 39 4 Y 6 aTel GRIel BIF-91 6 2

b =

e

Z- TRIgM
oAl § 3R b o +-URT&ur
G t-ORI&

3
4. F-Odfem

[ I

Al
A2
A3

Ay
4

Objective Question
15 150515
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Identify the measures of central tendency

A. Arithmatic mean
B. Median

C. Range

D. Mode

E. Second decile

Choose the correct answer from the options given below:

.A.B & Conly
.A.B & D ounly
.A.B.D & E only
A.B.C.D&E

S ygi & AIYl &I ygi-d |

A BN A1
B. A1
C. G (1)

D. 9@ (HIS)
E. fgdiu same

=i fau MU fdwedl # 9 9a8 Sugad SR 1 90 BT :

O

1. $TAA. B AR C
2. %aT A, B ARD
3. %gdA.B.D ARE
4.A.B.C.D3RE

Al
A2
A3
A4

Objective Question

16 1150516 The Agian scholar who like Aristotle supported the ethical concept of 'Golden Mean' as applied in
communication , was

. Ananda Coomaraswamy
. Patanjali

. Dao tsu

. Confucius

ok fagm, O orwg @t ifd $aR & vgad i # &1 e srmuron o g9 o $F 9

2 =

S Y]

. 3TE FHRRATHT
. et
AR |
STy

ko =

S V)
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Al

A2
A3
A4

Objective Question

17 1130517 ©fedia literacy is considered as a

. Corporate campaign
. Limited objective

. Temporary fad

. Continuous process

s FeRTM HI a3 § I o e |

Wbk o=

. PRURE HEE
. Tifaseg

. STt e

. T wfeean

o =

S V)

Al

A2

A3

A4

Objective Question

18 1150518/ 13 films, the elements of silence is identified as

. Aural syntagm
. Aural paradigm
. Aural position
. Aural resistance

fopert & f7: Treqa @t UgaH fPag BIdt 8 2

b =

L

. s g fg=am-set (Fem)
. 4qul Ja et wieaH=

. 4qul Tt sarufa

. 4quT St wieRiy

[

I ES V)

Al

1
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A2

A3

A4

Objective Question

191150519 ' yyrhich of the following are the features of narrowcasting?

A. Large area of reach
B. Weak reception
C. Limited reach in terms of geographical area

D. Noige free
E. Appropriate for specialised media channels

Choose the correct answer from the options given below:

1. A, B, C only
2.B. C.D only
3.A.C.Dounly
4. C.D. E only
ffarad O o1 i faRivar gea Ragqu &1 € 2
A. Ugd @ fawqga &a
B. SIERTEU
) &Fhd ®I 2P ¥ Hifgd ugg

D. A& Gl & o TRfed dricpH
E. fafiy Hifsar 9=1ell & ford Suge |

19 AT e oo edl & @ 9l SR &1 99 Hifor -

1. Padd A.B.C
2.%dd B, C.D
3. HddA. C.D
4. $bad C.D.E

Al

A2

A3

A4

Objective Question
20 150520
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Given below are two statements:
Statement I:In communication, meaning construction is a process of making choices.
Statement II: Use of language for communication is a restrictive practice in public domain.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement IT are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I 1s false but Statement IT 1s true

TR ey

B 1 - GIR H 3 i, e Fafu & wfearaidi g

DY 11 : IR & 10 HIST &1 FE1TT Gduiie &9 | wiasaeas Ture |
SR B & el o, - [GU Y fabedl § 3 99 Sugad Ok D1 98- Biuig:

[ SN

. HY 1 AR 11 S IR E
U1 AR 1A TTed §
LTI . g FYF I TEd §
P 1T . g PR TR

o =

NE V)

Al

A2

A3

A4

Objective Question

21150521 1f an artiele is sold for 22220, the percentage of profit earned by the shopkeeper is the same as the percentage

of loss incurred on that article if it is sold for ¥ 1580. At what price should the article be sold so as to make a
profit of 25%.

LT 2175
LT 2275

D3I
.Z 2300

il fepit 9% 1 2 2220 H ST ST &, <11 GBTER GRT WIS ATH BT HIaId, 99 9% Pl 21580 H 94 &I
W%ﬂ?ﬁﬁﬁ%ﬂﬁ%ﬂ%@ﬂ%% | Tt g 1 o e IR S o1 O 25% T
T o o T

e R

E21TS
. 2275
. 32375
. 2300

o =

e

Al

A2
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A3

Ay

4

Objective Question

22 150522 There are six persons in a room namely A, B. C. D, E & F. A and E are brothers, B and D are daughters of the

brother of C's father. F is the sister of E and C is the only son of A's uncle. How many male and female
members. respectively, are there in the room?

1.3&3
2.4&2
2&4
45&1
AB.C.D.E3RFING SEAGd UG HHI T E | AR E YE €, B 3R D, ¢ & a1 & Ui ot afedi gl

F.E®I 984 ¢ aUl C. A 9191 &1 UHHH YA ¢ | dl HH T T3y Ug Higansii &1 3@ o [ g 2

[¥5]

33IR3
43R 2
23R 4
53R 1

b =

E V)

Al
A2
:A3
A4

Objective Question

23 150523 Find the number that can replace question mark (7) in the series given below.

5.5,11, 18.5, 30,495, 85,7

.134.5
ADLD
1015
.141.5

ag T 1A DI Sl i & g 4@l § U=AdEs (9% (2) I Hioyifud & bl g 2

5.5,11, 18.5, 30, 49.5, 85, ?

[

S VS

.134.5
1525
3.101.5
4.141.5

b2 =

Al

1
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A2
A3
Ad

Objective Question

24 150524 A man runs 20 meters towards east and turns right, runs for 15 meters and again turns right. Now the man runs

for 10 meters and again turns to his left. Now he again runs for 10 meters and turns to his left. From here the
man runs for 20 meters and once more turns to his left and runs for 12 meters. Now which direction the man is
facing?

1. North

2. South

. East

. West

afe T eI gd B 3R 20 Hex Sisar § aurarfe- iR gear 8. iR 15 Hex Ssar g ok R aifea
TS &lTdl g | 3fd 3MTed] 10 Hiex &Sl g aul G 3o el SR O o1al 3| 31d dg 153 9 10 Hier alsal
§ T ST &Y 3R g3 o1 3| T8T 9 SeH! 20 Hiex <19 dl § aUl ThaR 3R 304 §id I3 odl § 3R
12 iR ArSar g1 d 3fd el &1 g [py A= §

S Y

:af‘&m

Al

A2

A3

A4

Objective Question

25 1150525 13 4 certain coding language:

A. RED' is coded as 360
B. 'BLACK is coded as 792

How 'BLUE' will be coded in that language?

ko b

gy
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afe fodit pe w4 -

(a) ‘RED'®I 360 & ¥4 § Hfcd far manr g

(b) ‘BLACK’ &I 792 & ¥4 ¥ pled fbarmar g
T 39 U § <BLUE’ &1 B3l Sfed fodl S 2

1. 2475

2. 1575

3. 1825

4. 2520
Al
1
A2,
2
A3 5
3
Ay
4

Objective Question

26 150526 1f the statement "Some professors are spiritualists” is given as true. Which of the following statements could

be immediately inferred to be false?

. All professors are spiritualists
. Some professors are not spiritualists
. Some spiritualists are not professors
. No professors are spiritualists

uﬁaﬁ?%—rr “PE WHR TS 8~ T8l 8 of Fefefad § § & a1 ou= 8 TR W 7Tad g1 o
qodIg 2

O

. g+t TR SeareTarel 81

TS WP HeATHa Tl €1
TS AT THIR T2 © |

. BIS i TeR sierarel T8I T |

[ S IE

e

Al
A2
A3
:A4

Objective Question
27 150527
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Which of the following statements are logically equivalent to the statement "Some professors are
i

spiritualists”?
A. Some spiritualists are professors.
B. Some non-spiritualists are not non- professors.
C. No spiritualists are professors.
D. Some professors are not non spiritualists.

Choose the correct answer from the options given below:

.A.B & Donly
. A &D only
.B & Conly
.C&D only

i % 9 & 9 ouF aifdh® e § TUF <o WHER Sedad] & & I9dd o7

A TS ATHAG] MBI E |

B. $& TR-3ATHE! TR-UHIR 721 8
C. B 1}t feATeTaTd MR T ¢ |
D. TS WHIR TR-ATEaE! el € |

-9 feu e faoedl & 9 9ad Sugad SR &1 99 B :

R

1. $AATA. B 3R D
2. HaAAIRD
3. %aaB AR C
4.%ad C ARD

Al

1

A2,

2

A3 3

3

Ay

4

Objective Question

28 1150528 which of the following statements are so related that they cannot both be false. although they can both be

true?

A. Some professors are spiritualists.

B. All professors are spiritualists.

C. No professors are spiritualists.

D. Some professors are not spiritualists.

Choose the correct answer from the options given below:

.B & C only
.B & D only
. A &D only
A& Conly

ko =

S e
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fFrefated 5T o9 Y Y 339 TPR JaiUd € [ 3 3F1 Tad e 81 I%d, I9fd 3 S Tl 8 9%d 82
A TS MHW HAAE € |
B. 9 TheR AT Hae g |

C. B 1 MR Sererardl A € |
D. T WHIR HAEDHAE] 6l 6 |

1= 14U Y fasegl O § el SR &1 99 pifoy -

1. %aaB AR C
2.%a@B 3R D
3. Hdd AR D
4. FAAAARC

Al

A2
A3

A4

4

Objective Question

29 150529 : . v e y 4 . ; . .
"How can you give argument in four of vegetarianism when you eat meat?" Which fallacy is committed in this

argument?

. Red herring

. Appeal to emotion

. Ad hominem

. Hasty Generalisation

“TIq 1T 7Y @ & O 319 FRIfAae $ g A g P Ted € - R A s W ad aw g 0

B

1.41
.AZ
.A3
Ay

4

Objective Question
30 150530
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According to classical Indian School of logical which fallacy is committed in the following statement "Fire is
cternal because it is produced"?

1. Viruddha

2. Sadharana

. Badhita

4. Anupasambhari

YA (FART]) YR dobHd & ST9R FEAREd SU= 8 B1H 9 dob alv g 2 - <3 Q¥ad g, #iid
T 3T Bl S 2

[F¥]

A2
A3
A4

Objective Question

31150331 which of the following pairs of acronym and its expanded form is incorrectly matched?

1. CMOS- Consistent Metal-Oxide Semiconductor
2. DRAM- Dynamic Random Access Memory

3. MICR- Magnetic Ink Character Reader

4. VLSI- Very Large Scale Integration
=

Ferfeiaa ufvaoil wrsal ud g fa%ga Ul &1 &1 91 7 7Tod $u 9 gafad § 2

1. It UH 3 09 - HFRRC e Aed - Jlauss dHiasaex
2. Bl HR U TH - SEHE Y50 Uaag BaR

3. TH IS It 3R - A 5 Hiaes e

4, G U0 09 (TS - 3 11 W d SCURH

Al

A2

A3

A4

Objective Question
32 150532
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Given below are two statements: in the context of MS-WORD software
Statement I: The tool which is used to insert decorative text in a document is called Clipart.

Statement IT: The purpose of using Keyboard shorteut CTRL+X followed by CTRL+V for a selected text
paragraph in a document is to Cut and Paste

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I 1s false but Statement I is true

UH TH gs RaR & S A AR Sy R B

BYL : gsmwﬁwmwmfﬁmwﬁmW%ﬁqmwﬁ faemame
P e |

T 11 : Tl STagric d et 9uf=d Sove TTele & oy H1-a1S IMEPHed CTRL+X & &l CTRL+V &
V1 BT YIS e 3R 9 B

SWRIdd DY & SHelie §, = f3U Y fddpedl ¥ 9 9ad Sugad SR &1 90+ Bifuig:

HYF IR 9T §

HYF 1SRG 3T §

. PYT 1A S, AP PUT I A ®
DY TR, AfPT P I HA ®

o =

IS Y

Al
A2
A3

Ad

Objective Question

150533 Given below are two statements:

Statement I: (49);4=(31);5=(00110001),
Statement II: (7B);5=(01111011),=(123)q

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I 1s true but Statement II is false

. Statement I is false but Statement II is true

b =

Lo

file:///C:/Users/ADMINI~1/AppData/Local/Temp/Rar$EXa16868.39776/59_ 2B _Live_Poly Sci_E_1-150.html

24/113



6/15/23, 7:20 PM 59 _2B_Live_Poly_Sci_E_1-150.html

ey feuTUe:
BYAL: (49);,=(31);5=(00110001),
BYTII : (7B)=(01111011),=(123),,

TR $UF & el J, 919 3u 1w faeadi § I 9et 3Ok &1 994 Sifow:

FYF IR T

FYF IR EA ST &

. PUYT I TA B, AT FUT 1 3T &
PYT AR, AT PYT I T ®

b =

L

Al

A2

A3

A4

4
Objective Question

34 150534 which MS-EXCEL formulae are equivalent to each other?

A, =A3TA4TASTAG

B. =SUM(A3:A6)

C. =SUM(A3. A6)

D. =SUM(A3. A4, A5, A6)

. A.Band C only
. A.B and D only
. B and D only
C and D only

FTEd o 9 U0 U - TR & S 9 GF US - R & 99ded § 2

A, =A3TA4TASTAG

B. =SUM(A3:A6)

C. =SUM(A3. A6)

D. =SUM(A3, A4, A5. A6)

A= QU e fadedl & 9 el IR & Fg7 Sifeg -

b =

L

1. HIA A, B3R C
2. PAAA, B IRD
3. $EAB IR D
4.%gd C AR D
Al
1
A2 5

2
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A3

3
Ay

4

Objective Question
35 150335 Which of the following statements A-C is / are correct about cyber attacks?

A. Spyware prevents access to a website
B. Virus 1s self-replicating malicious code on a computer.
C. Denial-of-gervice (DoS) captures all data entered using a keyboard to obtain personal data.

Choose the correct answer from the options given below:

. Aonly
. B only
. C only
4. A& B only

e gHal & deo # FAfifad sy ae-c H oI/ YA 9ei g /8 0
A WS &) daurse & AfH &I Addl &
B. IR ¥l H1ex R W-Hidpias fdgugul &1 §

c. faaTd 8121 U & & fort fooddt piare g1 uiay fod ) 9uft S1er &1 uueu 9a1 & A6R
(DoS)gRI fooar ST 8

A feu T fasedl o © 96l SR &1 994 ifo :

b =

[¥5]

1. $adA
2. $ad B
3.Padc
4. FPaTAIRB

Al

A2

A3

A4

Objective Question
36150336 Given below are two statements:
Statement I: Integrated Solid Waste Management is an approach. intended help /guide/decisions about the
generation of wastes, recycling of materials and ultimate disposal of waste residues.

Statement II: Sources reduction is not the part of Integrated Solid Waste Management.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.

b =

R
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RaesrERrme

HY 1 : TR T B ORIy YEYE U SUTTH § St SUfRis! & ScTeH, Iadt &1 g Eh 0l 3R 9
Il 1 3ifdH =9 F Fgeq & oy 63 & Semar e g |

PUF 11 : TG ATFT TABT B ORI by ST U T8 © |

SR B & el o, - [3U 1Y [debedl # 3 99 Suga 9Tk D1 98- Bioig:

HYF IR SHA TR |

HYF IR SA 3T |

P I, AP HYT I I € |
P ITIR, AT sy I e |

3 =

S V)

Al

A2

A3

A4

4
Objective Question

37 150537 Green House Gases absorb radiation energy mostly in which of the following region of solar spectrum?

. X- Ray

. Ultraviolet

. Infra-red

. Visible

&Rd T8 TN @ 313w YY) T avien (WiaR Waen) & FEfafad few &7 | siftretwra: fafawo sei
B ST el & 2

=

e

Al
A2
A3
fx4

4

Objective Question
38 150538
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Which of the following air pollutants cause acid rain?

A, Nitric oxide

B. Nitrogen dioxide
C. Carbon monoxide
D. Sulphur dioxide
E. Methane

Choose the correct answer from the options given below:

.A.B.Conly
.A.B.D only
.B. C.D only
.C.D.E only

f=fafed & $1H.3H ¥ Ugus s avl & SRS § 2

A, TERH HAEs

B. gCIo SRS
C. PIE- HHAIGIES

D. Y9 SISATTSS
E. Hid9

i fau U fasedi O ¥ Tl SR 1 90 ifeiy «

b =

S V]

1. $ad A, B.C
2. $¥GAA.B.D
3. 40 B.C.D
4. HddC.D.E

f\l
A2
A3
:A4

Objective Question

39 ||150539 Decreasing dissolved oxygen (DO) level in a water body

. Severly threatens the aquatic life

. is mainly caused by the oxygen demanding wastes

. indicates the presence of biodegradable organic substances
. cause undesired taste and color

. makes it non- drinkable to human beings

mgnwe

Choose the correct answer from the options given below:

1.A.B.C.Donly
2.B.C,D.E only
3.A.C.D.E only
4. A B.D.E ounly
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s Od Fe 1 fadfad sredie (S1ef) WX 8 St

A. STl Sifee & fau iR @aw g |
g?ﬁ S{TerETor P I a1l SUfIs & HRU Sl B
feiaxofia Sfae verdf @ Suffa o Sefad axar g
D.mﬁﬂw_mww%l
E. U8 S8 UM & [0 -0 arare |

1= fSu g fasegl ¥ 9 el SR &1 994 pifoy :

1.®dd A, B.C.D
2. %dd B, C.D.E
3. %dd A, C.D.E
4. %dd A, B.D.E

Al
A2
A3

Aty

4

Objective Question

40150540 Given below are two statements:

Statement I: Acute health effects are caused due to prolonged exposure to a chemical.
Statement II: Chronic health effects occur when an individual is exposed for a very short period.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
. Statement I is true but Statement II is false

. Statement I is false but Statement II is true

TR sy E:

DU : T T & Sd@lied 0 9 99% § = I d9 Wreg uqe gsd g

BYA 1 : 6 DS Alad 9gd BICT @il 3 U Jueh T 31l g ol RSP Wy YUId Sd=1 eld ¢ |
SWRIKI HY & Hedle H, - 3U Y fabedi § 9 969 Sugad IR &1 98- Bifuig:

e S

PUTI ARSI TTE

PYF 1 AR 11 SHT T &

YT I A ©, Afh DU 11 3T &
YT AR, A PTPUT 1 I ®

o =

&

Al

A2

A3
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Aty

4

Objective Question

41 150541 : . xzim . __ - . I
Which education commission suggested the development of some universities into senior universities?

. Sargent commission

. Radhakrishna commission
. Mudaliar commission

. Kothari commission

for fram smai = oo fawa faenedl @1 oy fanafaemal & 30 H fgnRyd o3+ o1 ga fRarur?

B

1. FRGIC 3anT
2. AYTHU T

3. EITCRR ST
4, ISR SATINT

Al

A2
A3

A4

4

Objective Question

42150542 \hat were the recommendations of Hunter commission on higher education in India?

. The Government should leave the management of higher education to Indians themselves.
. Government colleges should be established only where the demand existed.

. The Government should provide grants to non-government colleges generously.

. Students should study the prescribed subjects without any option.

. There was no need for moral education in colleges.

Mmoo

Choose the correct answer from the options given below:

1. A.B. C Oaly
2.B.C.D Oaly
3.C.D.E Ouly
4. A.D.E Ouly
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HRA T IR MR TR §ex i o R o1 di 2

A. THR DI IR & T vay-, Wh YR IR SIS &1 g

B. IRORI BIele acl del wIfud fahT wd wef 7T &l

C. PR B IR-IRBR Bicioll Bl SERAIAD HIEH UG BT gy
D. B & fa1 fslt fawea & FiEy fawal &1 srergs s arfeul

E. ®Tasi 8 Afd® R a1 oIS sawaddl el ¢ |

1= fSu g fasegl ¥ 9 el SR &1 994 pifoy :

1. $ad A, B.C
2.%dd B, C.D
3.%dd C.D.E
4. %A A.D.E

Al
A2
A3

Aty

4

Objective Question

43150583 The Committee for evolution of the New Education Policy (2016) proposed the establishment of a council for

. Private Universities

. Foreign Universities

. Educational Innovations

. Excellence in Higher Education

5 e ifa 2016) @t fawra Sah wfafa = fous fog ufvee 1fdd o= &1 gema fgar vt 2

R

1. it fawafaenag
2. fae=ft faxafammem
3. U@ TaER
4.9 e # gyl

Al

1

A2 5
2
A3 3
3
At 4
4

Objective Question
44 150544
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Who among the following thinkers observed that light and heat are only different forms of the same essential
substance and also speaks of gravity as the cause of falling?

. Nagarjuna
. Jivaka

3. Kanad

4. Ramanuj

faefafad © O iy foars &1 ad o1 {6 UaTw 3R 31 U6 21 2avg s ueid & $ad fig W g g 3R
et 9% & TR &1 PRI [S@IHY g1 & 2

L2 =

1. AT
2. oflg®
3. PUTE
4. TS

Al
A2
A3

A4

Objective Question

150545 Given below are two statements:

Statement I: Indira Gandhi National Open University (IGNOU) was set up by an act of Parliament (1965).

Statement II: IGNOU adopted the strategy of using integrated multimedia instructions through Gyan Darshan
and Gyan vani.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.

4, Statement I is false but Statement IT is true.

TR AR

mmx;?ﬁﬂmm fawafaaTer (g) @1 H 99 & AT 1065 GRIST TS o |
YT : T A FHarf & T 9 U idd SgHeT (Mo H1San) a3 T 9earl a4
Pt I SroeTdt R

TRIF DY & el H, Hiid 3T Y fadedi & 3 961 R &1 997 Do

HYF IR IS TIE |

FYF IR SA 3T |

.Y 19 8. AfeT YT 11 3 B
. PYT I A B, AP YT 1 I B

o =

S V)

Al

1
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A2
A3

A4

Objective Question

150546 Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -$4.1 billion, or 0.2% of GDP, according
to a Cornell study, in addition to health impacts. Experts have suggested multiple time zones in India,
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory, India's official time keeper. But considering the
huge nvestments required, as well as the logistical exercise of coordination, make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or sunumertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states, establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines.

Pre-1947 India used the system of

A. Multiple time zones
B. Two time zones
C. One time zones
D. Daylight saving time

Choose the correct answer from the options given below:

. A & B only

. B only

. C & D only
.B, C & D only

e S
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ffafad Tere o ufed 3k 399 Efed U=l & IR difon -
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Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -$4.1 billion, or 0.2% of GDP, according
to a Cornell study. in addition to health impacts. Experts have suggested multiple time zones i India,
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory, India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination, make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states, establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines.

Having multiple time zones or two time zones is not a practical option because

A. Tt cannot be done

B. The costs involved are huge

C. It will serve no purpose

D. The logistical exercise of co-ordination will be needed

Choose the correct answer from the options given below:

.A.B & C only
. A, B & D only
. C & D only
.B & D only

e LD kD
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Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -$4.1 billion, or 0.2% of GDP, according
to a Cornell study. in addition to health impacts. Experts have suggested multiple time zones i India,
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory, India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination, make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states, establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines.

India needs to manage daylight much better than it does in order to

A. Improve its GDP

B. Be more energy efficient

C. Increase production

D. Reduce its carbon foot print

E. Maximize the use of natural resource of sunlight

Choose the correct answer from the options given below:

.A. B &E only
.B.C & D only
.A.B.D &E only
.A.C.D &E only

R
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Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -$4.1 billion, or 0.2% of GDP, according
to a Cornell study. in addition to health impacts. Experts have suggested multiple time zones i India,
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory, India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination, make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states, establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines.

Given below are two statements:

Statement |: Daylight savings time would permit using the extra hour of daylight from March to
October.

Statement lI: Uniform opening hours at all workplaces will maximize use of daylight.

In the light of the above statements, choose the correct answer from the options given below

Both Statement | and Statement Il are true.

[ ]

Both Statement | and Statement |l are false.
Statement | is true but Statement |l is false.

Statement | is false but Statement Il is true.
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Read the passage and answer the questions that follow.

India needs to manage daylight much better than it does. Maximising it is also a good place to start to be
more energy efficient. Not using daylight properly comes at a cost -$4.1 billion, or 0.2% of GDP, according
to a Cornell study. in addition to health impacts. Experts have suggested multiple time zones i India,
perhaps reverting to the pre-1947 system of two time zones, as proposed by the Council of Scientific and
Industrial Research (CSIR)- National Physical laboratory, India's official time keeper. But considering the
huge investments required, as well as the logistical exercise of coordination, make this idea unaatractive.
daylight savings is a more practical option.

Daylight savings time. or summertime is the system of advancing clock by an hour to get more light out of
the day. This would permit using the extra hour of daylight in summer months between March and October.
And it would avoid using lights on winter mornings because the sun rises later. This system will be
particularly useful in the eastern and northeastern part of the country. To further maximise use of daylight. a
shift away from uniform opening hours at workplaces can be advantageous. The sun sets roughly 90 minutes
later in western parts of the country than in the eastern parts. In northeast and eastern states, establishments
could begin work an hour earlier than elsewhere. It would allow people here to match their working hours to
environmental cues, while giving a head start to others elsewhere.

Advancing time to maximise use of daylight has energy saving potential, which will significantly alter energy
usage, cut down India's carbon footprint and help leverage the natural resource of sunlight. It's about
maximising hay when the sun shines.

Daylight saving time would do all of the following EXCEPT

A. Advance clock by an hour

B. Begin work late in all parts of the country
C. Get more light out of the day

D. would stagger work hours

Choose the correct answer from the options given below:

. A & B only

. B only

.A. C&D only
.B & D only

LD kD
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Objective Question

Which among the following rights is not group right. according to Will Kymlicka?

1. Self government rights

2. Polyethnic rights

3. Special representation rights
4. Right to speedy trial
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